m BUMPER KIT INSTALLATION MANUAL
m MONTAGEEINLEITUNG FUR STOBFANGER-KIT

For: Kawasaki Mule PRO-MX (2019-)

2444.6912.1

rﬂ‘ @ 20 min

WWW.RIVAL4X4.COM
WWW.RIVALPOWERSPORTS.RU


1
Прямоугольник


[
4

A

@)

EN Regular fasteners
DE Originale montageteile
RU WTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LUTaTHbIn Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BkpyTuTb Ha HECKOMNBbKO 060POTOB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKOMBbKO 060pPOTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [BmxeHune

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU Pacnonoxenue

EN Screw Arrow
DE Drehungsrichtung
RU lNosopoTt


1
Прямоугольник


X%
uR

EN Ratchet TORX
DE Ratsche S-19
RU Tpewérka

5 6

x4 | M8x20 x12 | M8x25 x2 | M10x50 x4

(0| CD0

M8 X6



1
Прямоугольник


.‘é‘f&

M8=30 Nm

A1(A2)

A1(A2)



1
Прямоугольник




1
Прямоугольник




1
Прямоугольник




1
Прямоугольник


